EARAROBEEIERT — 2 N— IBISH —F

2

0185F9A25H (X) 13EI&IR4H

mkgfggﬁio DER] 1 HSR2E B R
[A&4£] 1 7% :500,000 ™ ~ 2#&:115,000  ~ 33#&:60,000H ~ 43#&:45,000™ . 5 3&:30,000 @
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s RS YEEN 4 2 | BEHEBLA 1:32.4 6-6-6-4 [39.1| — 4 424 | HARR (£R)
14| ¥V /EYa 5.0 =) 43) | @R Fr—xbEVar
LNMVT S BiivA gy I #Z
S SHEH 33, o1 2] - BiERE (2R
5 g|7>/ERY B2 L 1(333)1 1-2-1-2 | 42.2 1 (4+355) el
LXK AT B:YHFINFTLRA TERAKS
35 B 4 2 | MEBES 1:33.2 5-5-4-3 |41.6| — 3 472 | RIHEZ (£R)
kR 6 K YYITAF> 55.0 (172) (1) |WTFEX
L:xF1=Grp—X BNCRFTTxA b H—L— - JvIN> - Ty7—LERS
a2 4 2 | BUIERE 1:33.2 1-1-1-1 | 42.3| — 6 434 | SIEERE (£R)
N > BEIVEET 540 5 Ca |BEE
L:ErFOvY BixA7O-F pAcZie]
> K 2 | REBE 1:33.5 3-4-5-6 |41.9| — 5 42 | BERZ (£R)
5177 | F¥av/Kxy ¥53.0 (1 1/2) -6) fop sy
LA R—3ITk—L B:T1—IKIED AAVELRT7— L
o= f 2 | Rt 1:34.0 8-8-8-8 | 40.5| — 7 427 | BEBE= (&R
6l5/5|71—>Z1F— 54.0 @ 1/2) () | EHEE
L:T7vy3I7—L B:Jvxy bNIZ R Bz
. st 2 | BRAA 1:34.1 7-7-7-7 | 41.4| — 2 446 |£H—8 (£R)
71111 b—E>Z ML=+ 55.0 (3/4) -3) ﬁ\%@#i
R:bh—traOL>zx B:b—t>v—/ BREHM IXF1T77—L4
3 —_ B o2 | AEB 1:34.7 4-3-3-5 |43.4| — 8 406 | SIEEE (£R)
8 3 SIWIGRT—= 54.0 3) ©) %m%m ’
2=/ XLy b BiXATVIT=T pAcie]
@ 1—F—@&BIEf
| S=zr= (2,8),7,3,6,4,1,5
20—7— 2,8,3,7,6,4,1,5
30—4+— (2,8),3,6,7,4,1,5
43—+ — 2,8,6,4,3,7,1,5
[ RN
BB 4 1,110 714K 4-8 200M B E 4-8 510M &R 4-6-8 640M
8 B 4 120/ 4-6 520M B H 4-8 2,230 K31 4-8-6 8,020/
8 1004 6-8 150H
6 140M

ABICOVWTRDTEEERROODE. TR LIV,



